TRIAL ONE EVALUATION TEST

MATHEMATICS PAPER 2

MARKING SCHEME



ST
LR, . e,
é = 4 N
ol - ang?
x e
A
o
S—) B
‘2_'5 "‘;( \"l\
% =3 MA
(:‘;\ T(‘lv_}
o
(SN S
l/\ B B ‘ i
§ A
=&l 5 e
Bl TR
¥ = Y=~3
i TR |
—~ = = T('&t-u")
BT e |
-5
Rl )
SEESIC =)
e
E sy (M1
e '“_LL’X_;*
o A_l
0-¢  _ fay £ 10 =
= . v h
&=3 "R, Bl 15 5 \
xXHE = "t‘ N gl
PN g = N g::‘{ .h_
e — e vaao £,

* U M 1

et
,A,m--b




3
Sobao [
(PV\\’L - I ~t

HPA) = 2~
LPe = o

t C[p")1+ !) =

-1: ‘-'\
K- 3
VT = =i (=)
Y =TI
Yy = ~xag
{. N SN G762 6.2¢
Os & = 22-6% 4032 =
22.6¢% - '8:_|P
e Lol e
= joX4o.-22
%® = 8

Bio;

M

M|

M
M




Lpszibo

—8&7 + a

oolz
=0.5L072 %2
= 0.8L08

NENEERD
—(ﬁi‘ ﬁ)(ﬁ*ﬁ)
= 2-~2J6t2

%= L
= < -2J86

Aednal osRa = [2.9% 6-7¢

T - b 8 Fa ‘ry\‘
U"‘G)x =+ SQ""‘ga -s6q 3-fffcmu—f& Q’+wq"

3 Y

098" = | ~B(s:02) +28 (0 03 —56(0.02) + raoa)’
‘S(.,(&m\r-hx(o-oz‘—%(0-02) o0 M1

= | =0\b +t0.012 ~ O.0o0uwust0.000

| 'ay
L Ok = | o
Ac_A-O = 70.' w ~X @l
Coht = (O 2 F;
b g AC’.A-E.A'?O.H”J \
@B B (
i, 3
) Z
|~ - * h
%[ &\ —[,(a°,3a‘4 B -4 z’agff’laah'ﬁ"lir"‘l”:'aﬁlt

=
= F¢37¢ -
Moptimum, v = l2.gcs® 6-9¢s W\A (‘V\AMW-A---’VM‘ ae.pv..l\
. =8%77¢2%
WMirmun orde = 1248 % b7 o
= 33'6791_5,_ - S
‘¢ ) —~ @22 . . :
e et = 84 TSI g} i ety <
22X &4 375 f!vn aZ by

PR




|2

o z

= 25
56

* (X))~ glr +)
= (‘X'l"i)(’-'l—'-ﬂ' {%/] 1
’.2'):1"1-7:—15" =0
eD(az-5) =0 .
A AE O o 23 =K =@ W
X ==3 o 22 =
R = < )
= AL (b v
w~ = '-'SI 2.8 2
o < z’f}_“*?—a ’%"]_—-7&.2-
3= 3127 L=ty
I < = &
- % =3
R R G:’G‘“\ \f)
’ \ E= =)
Sy
D=2 \ 2/3
/%
g
YV Ay A = 31T
l_g_-x zGo,ooo M
1+ = 00,000 %9
_.—-—‘-:7"—"_‘
= 162 857 M
e " "—“ .‘ B B I
W W S . 4 4301 3
fx g vEake et 4 u;‘txﬁﬁ;ur My
< 3. Lo 4 - w3 teth Y e
Q’*St +7_‘-I‘ - =7 ml e
el
-




(7

{00 ' 228
Lo — 2 m
iy 4 d
SC. = ?;U(xloo
BET G
= o ﬁ’] y
MQ&U = ';(:I‘-_[q_g MI |
= l?I%’T
Y
ﬁ-( (ﬁrcw £ QWFM)
LY Bl (L35 o ) #
&1
‘; ( Bpge combobd p ‘
/ -'/ J [
—t ) ¥ — R S
[ € o q b
AL = vie '
B (e Qo e %)
AL bomen (| CLO»L A D B Conabredey)
*&f (A'D Araunn)
- 1 ; N X
g, DX e A" It amecnd )
— . a —— M.y
I LW 4 (&D Macl tved
M T e i
Nt
0




~s~y| -1~ o |

- \d‘ ﬂ\ RE “‘"ﬁ

il o =
l‘\ P8 ‘__."'"l'f‘) “O-b,‘ 3 g?—
h\ \5 = = ux -
(U,“") ) [7\[‘?3 a’\
“C _‘.-3‘7,'_"; t ‘ %‘l—
\ 0

N Qam Tally  Reagrancy Mot pn g
g I 4
_. / = 294 8¢ |3
Jo—uy .‘Q“” c
RPN . 396 2379
‘fﬁv\r
P 39%
Ve AL -2 N
b= 14 4t 10 - st 2
© S asbs| s
W— g4 /i
2 795 23%s] 3y
ol
Q) Meded sy, 55 -y
V&1
& ol Wol = 29 M
= €419 "
A
. a & F’1
A Mo e = S AR
' I M\
T T6y A
2R

P (V Mt it € o)

(€4 Cluwmn

(M 6 v

CORA
R O

LAt 2 - wany

Ll et

> -
s




R

ol




PA

/ﬁ’a)éﬂ@?f B GO N W 7

1
20 UG i, L08855 L b s o
4@@1(2’0‘-\ tlrd.*' ;‘-L}('-Q.qa) Tk ‘)
= (o Rk
S Luts = 3¢
Lyt = 3¢’ (alMEeelewdhcuey ki el
d) Z_utv = 18- (68" + o rareas)
(&St “3 AY ~
=5 3 71
1 ) Zlusg

= (o0g”

T gy - 7(;“(6]17 Ly g ej(é{ ﬁm@,a B

®

pnl




g —— g T —— T

e e s R g

h)

2.

o
Pr=%y-~2q
s = Lo =L

R q= =
Py R 3 .'_%(sz. +ad) = \s7%
7w+ ) = |15
[ b+ 28d D ¢h
254 = lgo
4 =g

1) .g..\ = 5_:\_(1%2.*(\_'*\»05,“) = Ll b

—

N = 0

= L D e xe3

ppus—

{ -

w =~ % ov — 28

Ty W BT

b gd: e . | ' S'{L‘

Qred a 44

—

oatid R

= Axyd q:h“a«r)i

@-\-Wd\‘l = [+ )@ +d)

. 1 1

iy

T
rosa &

‘m e ¥ "$>;-'
P

10




22

¥)

?13) P-T-t4—
-7
S i
QL'\*%‘Q& + b d"= c\LTzachprL
od =87
d =3 2a-= f i Ve oo
S f |
(n = Q—-&-LHL},
6 Ay
b lg . ‘
) o
Sg = é(l gg___‘"\ M)
(S—1
= 6 (256 2 =)
—
= G x2%gyx2
= 2‘:15"-@ I*\
P= w1
.-Y'lr
\ M\
a) 01 = ky |2
-
k = =. .
P = T x ¢ M)
=
— Lk},\
== il g,
= \-% o
) ‘%‘”1’ ) 11
q = L




24

g= 020 gy,
h‘*_—_\_'
5 M 3
-‘f ?—Kb-gi P~
3
g = 09720 1 ©O324 P |
ke s m)
“ o P oa A
R st hisia N N
Pr""
- [—D‘q?L){(oo'L
{
= 2.8 9 .
Elos
O N RBc
LS 3|
S ETNC e Y |m
o n' ' o
— &9"‘"‘& -6 —2
LO © —4 —*Tx
o'(e o), Al e 13 (-*Gl—ﬂ‘c,](_:?..q) &y
% O' xRl
© (‘ o\ 0 4 —( ~2
OU A’l\ ﬁu C(‘
:(O e | fﬁ ~
D(o\‘))'ﬂ"(—"l‘o\‘r:“ ('—‘I z) ‘Q“(._'ng‘ A”]




i

1
T
T

|

1

-

4

I

T | T
' — @ - e
ul
=

s u
-

VI
1

A

i R A
l e e e e
e e e

. e it

11

1

I
1
I




)
0.‘9\(0 f{ fé ay 0 A RC
o_d‘ ° 0 g ?)a(o«l}(
_ Qo 2 o M
— —"GQ -\..‘&lo = gc-{.&d:z
Ta gL ~Ze dad = 3
N M
a = N 8‘0_-&3:0
a = -2 c = &
©torsh = 4 §d ==
d =\
shb = =3 9
b:.,_}
®
CL9) - 3
-7
)= (5 7, &
(2]

(«(\Ww g o )
]

(Vo b 2acl

Sl S A TP PP

14






